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O my(e) < my(qe-) OO0, m 0 f(x) <0000000 n<x<27000,00 me
Ofx>00000000<x<a0000000000O0.NBFO 1000000
0000 (Zpyq) 00 (Zpye,) 00000 1000000.(Zp0,) 00 (Zpyjg) O
0o00000O00oDOO0oo0O0.00o260000000000000D0O00DO0O0O
oog.

<7 ) /q1>

Qo,o'

024 000000000 p/g-NBF (p/g = pi/g1 @ pa/g) 0 20000 -+ =
=M = 0=y = --0000000.000000000
000000.<Z,,>0000 p/¢-00000000000000000000
oo.

000 2/5-NBFOOODO0O0ODOOOOO0ODOOOO0ODOOOOO.O0OO,O
00000000000ooono.000oo 2000000000000, 00 1,
goobooobooobooobbuoobobooobooobboo.o0b b O
ps 000000000000 DO0000.0bO00o0oobOoOon ngDDDDD

00 (Traintrack 0)00000.00000000 33)0000000000.
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025 000000000 2/5-NBFOOOOO0 (DO0)OOODOooOooooooo
(0DO).1/2-BO0O0O,1/3-BO0000O0O0O0O0O0OO.00{i0np00000.

00000 (000D0)0000000.m0x=xa00000,n0 x=x000
00.00000np00p00000,;300 000000000 7300 40
00000000.0000;'00000000000000000.000000
000000000000000000000.0000000000000000
0000.00000<(Z,,,y 0000 p/¢NBFOODOD p/¢-BOOOOODODOO
0000.00 p/¢-BOOODOODOOO p/q0000000000DOD.0000OO
00000000000.mOx=r00000,03700000000000
00.000000,0000 0 pu000000000000.0000000
000000000000,0250000000000000.000000000
a‘[lcrglpg (~ o-]ng)DDDDD.

000 p/gNBFOOOOODODODOO0O00. 00 e 000,(Zpyg 000
0000 p,—-1000,(Zp,)0000000 py+1000.000000000
00 FPlp/ql = {p1/q1,p2/q2} 0000000 1/qi > p2/ga —pi/qn (i =1,2) 000
00000000000.00000000000 o5'0;,,000.000 g0
mO0000 p(=p+p)0000000.00000000 p,000000.00
00 p/¢NBFODOODDOD o;'o;l pf(1<j<qg-p-1)(~o’p) 00000,
(QED.)

B(p/q-NBF) (0 < p/q<1/2)0000000000000000 A, =1ndne O
D0000000000000000 4wx0000000.

(A7 =2)(A"? =2) = 3. (33)

p/¢-NBFOODDOOODODOOODODDOOOO (g-p)/g¢NBFOODOOOO
000000000000 D000000.0000 FPlp/ql ={pi/q1,p2/q) 000
FP[(qg - p)/ql = {(q2 = p2)/ 2. (q1 — p1)/q:} 000 0000000O.
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4 00O

0000000 1000000 (110000000 ADOOOOOOOO. 00
NBFOODOOOOOOOOOO.

00 >0,2000000000000000000000000. B(p/qg-NB) >
B(p'/¢-NB)O 0B(p/q-NB)O B(p'/¢-NB)D DO ODOO0O00.00000000
0000000000 B(p/¢-NB)DOOODODO0O0000,00000 B(p'/q-NB)
000000000000000000.

OO A@OOOO). p/qO p'/g OO0 < p/g,p'/gd <1 000000000
00. B(p/g-NB) O B(p'/¢-NB) 0000000000000 O. B(p/g-NB) =
B(p'/¢-NB)0 000000 O Fl[p/ql oFI[p/¢10000,000000.

00 1000 A0D030000000000000.0 10000000000
OO0000o0o00000oooO00DoOo0O0.020000000000000000
goo.0oooooooooooguoobooboobooooooboooooa.
00 1) 00 NBFOODODOOODOODOOODO,0000000D000D000000O0
OO00000.00 A020000000000000000,20NBODOOOO
Oooooooooooooooooooo.

000000000000 00000o00. 00 AOO Flp/glODOOODOOO
pi/gi 0 p2/g-0 p/gNBOODOODOODOOOOOODOODOOODOOOO.00 100
0000000000000 00o0ooooog. p/gNBFO y-OOQOQOGQoOGOO 2
000000 (Z, 0 (Z,,,y0 y-0000000000. p/gNBFOOOOO
pi/q-NBF O p./q,-NBFO OO p/g-NBFOOOGOOO.

OO0 NBFOOOODODODOODOOOODOOD.DO 170200000 @O)00
OO0 M0O00.000 zg000000.2/5-NBFO S0 000 1/2-BO0OO
O0000.0 16020000000 17h5(2)000000.00000000 &
oooood. 2/5-NBF O S;(Z)DDD 1/3-BO0000000.00000oaO,
2/5-NBFOOOODOOOOOO 1/2-BO 1/3-BO00000O0O0O0OODOO0ODOO0O
OO0O0.0000000 Flip/ql =I[pi/q1,p2/qx]000000C00000O.

TSBTOOOODODODOOOOOOOODOOOO. 0000 1200000000
(RL>* 00000000 {pa/g.} =1{1/2,2/3,3/5,5/8,8/13,---}0 1/vg (vg OO 0O
0)0O0O0O0. 000 pu/g, ~-NBFODOOOOOOOOOO adpa/g. — NBF) O
00d. a(p./q. — NBF) > a.(pu+1/g9.«1 —NBF) 00 000. p/g.NBFOOOOO
OO00000 v(pi/gr <v < pm/gp) OO0 KAMOOOOOOOO. OOO
Fllp/q] = [pi/q1,p2/qx1 000.000000000000000000O0.

lim ac(pn/Qn - NBF) = aC(V)' (34)

000e(»v0O0OOvyOUOO KAMOODOODOOOOODOOO.DO G4 O0OO
OO000O0 e(v)00OO00OODOO.000NBFOOOO KAMOOOOODOO
gooobooboboboboobuoob.booboboboobDoobDoobooo
o0o0o00.0 @G4)00000000000vy000 KAMODOOODOOODOO
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a.(v)000D00D0O0000DOO.00000000OOODOOO0ODOO.

p/¢g-NBFOOOOOOOODOOOOOO 33)000000oooooouoooo
OO0O000O0o0oOo0d.0Do00d p/g NBFOOOOOQOOOODOOOO.TSBTOOO
goooooboooobo, bbb oooboooboooob. o
o,00boobbooooobo,0ooobboo0oobooobboobobooooo
gbo.bo0booboooboooboboobooobuoo.b0ooobooboboooboo
O AQ0ODODQOOOO0OOD,00DCO000O0ODOOOUOODODOOO.
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